RETEACHING Problem of the Week Quiz #3 // N \f

1. A jar contains & blue marbles, 12 red marbles, and 10 green marbles. What 1s the

probability that a green marblc is drawn second, given that a blue marble was drawn first

and not replaced?
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2. The owner of a sporting goods store is fol]owmg, a pattern to arrange baseballs into 7
rows for a wall display. The table shows the number of baseballs in the first four rows of

this pattern, -
How many baseballs will be in the ?“‘ row? .
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3. A sequence of numbers is shown below:
5,10, 15, 20, 25

In vour answer document, define a formula or describe in words to find the n'

Find the 75" term.
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4, If a car reaches a top speed of 284 mph, then approximately how many feet per
second is it traveling?
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5. Which of the following numbers is(r’ationalj {1 point)
A.m B, 0131131113.. C.N7 (D o333



